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A.APR.D.7: Addition and Subtraction of Rationals 2

1 What is the least common denominator of %, %, 8 Exlp resseld as a single fraction, whatis
—+-, X#0,-1?
5 X+1 X
and —?
X 2X+3 2x+1 2 3
, 1 = 2) = 3) 4 —
1) 9x 2) 2x 3) 14x 4) 14x X* +X X* +X 2x+1 X
3 2 . . 3 X
2 Thesumof=+—=,x=0,1is 9 What is the sum of and ——?
X 5 X=3 3-X
1 2X+15 5 2X+15 X+3
1) X 2) 3 3) 13 4) " 12 -1 3) —3 4) 0
. 2 X . 3
3 What is the sum of = and = ? 10 What is the sum of (y —5) + ?
X 2 y+2
2+X 4+X 4+%° 2 _7q -2 2 _3y—7
)12 3) 4) _ y y y =5
2x 2X 2X ) y=52) y12 3) yi2 4) )
4  Which expression is equivalent to a + L? 6 y+5
X 2X 11 The expression — 5T is equivalent to
H 2a+b 2 2a+b 3 a+b 4 a+b y y =25
2x X 3x 2x D 5 %) 5 3 5y 5) Sy
y-5 y+5 y-5 y+5
. 3 7
5 What is the sum of% and 3—n? ) s
, 1 ” 10 3 4 " 58 12 The expression Snx  Ssnx—1 is equivalent to
n 21n 21n 21n | -3 5 -3
) sinXx(sinX — 1) ) sinXx — 1
y 1 3) sh;i(ssnilnxx_—zl) 4 _gifllg)i_l :
6 The expression X 2 is equivalent to
2y —X X—=2 1- -1
1) y 2) Y 3) y 4) Y
2X 2X 2X X—=2 o 3x 9
13 Express in simplest form: -6 + 6 x
. . 3 2.
7 Expressed as a single fraction, Ix xS equal to
14 Express in simplest form: 1 + L
X X+3
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A.APR.D.7: Addition and Subtraction of Rationals 2
Answer Section

1

ANS: 3

The LCM of 2 and 7 is 14. The LCM of X and X is X. The LCD is 14x.

REF: 060412a

ANS: 2
(3x5)+(xx2) 15+2x _2x+15
{(x)(D) 5x Sx
REF: 080207a
ANS: 4
(2X 23+ (x%Xx) =4+x2
(x)(2) 2x
REF: 010423a
ANS: 1
(@x2x)+(xxb) _Z2ax+bx _x(2a+b) Zla+h

(x)(22) 2x* 2x? 2x

REF: 089911a
ANS: 4
3 N 7 9 +49x 58n 58

Tn 3 21a° 21 2«

REF: 060727a

ANS: 1

@xy)-(xxn) _2y-x
(x)(2) 2x

REF: 010016a
ANS: 4
3 2 15x-38x  Ux 7

4x 5% 202 202 20x

REF: 010921a
ANS: 2
(Ixx)+((x+Dx1) x+x+1_2x+1

(x +1)(x) xPex xtex

REF: 069906a
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ANS: 2
3 -x 3-x

+ = -
x—3 x-3 x-3

REF: 010315b
ANS: 4

(y-Sy+2)+1x3 _ y" +2y-5y-10+3 _y* -3y-7

y+2 y+2 y+2

REF: 080505b

ANS: 1

6 y+5 6  y+5 6 1 5

y=5 y'=25 y-5 (y+5(y-5 y-5 y-5 y-5

REF: 080805b

ANS: 3

2 5 Zfanx-1)-S5sinx  2sinx-2-5smx  -3anx-2
sinx  anzx-—1 sit 2(sin x — 1) anx{an x—1) st Z(sin x — 1)
REF: 060816b

ANS:

3 3x N 9 I N -9 3x-9 3(x-3) 3

2" 2x-6 6-2x 2x-6 2x-6 2x-6 2(x-3) 2

REF: 060929b

ANS:
43 (IX(x+3)+(xxD) x+3+x  2x+3
X(X+3) x(x+3) J:(:;r;+3:| x(x +3:J

REF: 060524b
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